D116 BCOM-03
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER -1l : FINANCIAL ACCOUNTING
TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.
3T - T e sor FMory ) T wedAl F yF warT &/

a.1. a{diQr Hanl/ Pass the entry

1.

2.

3.

ai_Hy 10000 én™ Hi b ~Milé
Goods sold to Ram Rs. 10000
A{_V Hi1 5000 dVZ MHg 1
Salary paid to AmitRs. 5000
g{_V Hin ZHSX MH&E 2000
Cash paid to Sumit Rs. 2000
a_e Hin 5000 &n~ Hyr b ~Mig
Goods sold to Ramesh Rs. 5000
a_eZ 1bding{H 11000
Goods returned by RameshRs. 1000
a_e{Xdb rhiJ ndé&n™ _20ng{ bl
Ramesh became insolvent and received 20 Paisa in a Rupee from him.
_OXar MH%B 1000
Wages paid Rs. 1000

AWdn/ OR

b 11HSZ AdYraUnAn Ht dUZ Heanlé

Describe Accounting Conceptin Briefly.

a.2. 1 0Zdar 2005 Hy1 Y {b. g EH§ _erZ 5,00,000 _ NarXr hng 10% w.D.v. {d{Y
g bJiV hi& 1 ObiB 2007 Hir _erZ Hyn 1/5 ~1J ZiQ hn J ™1l d Cg 25,000 _

~MiiCgr{XZ ZB _erZ 1,00,000 &n" _ larXrk_erZ hivn~ZB™ &

(i) d-i-m@rT.0.



a.3

a. 4.

On 1 January 2005 one machine purchased from Y Itd. for Rs. 5,00,000.
Deprication charge @ 10% by W.D.V. Method. On 1 July 2007 /, part of
machine got damaged and sold it Rs. 25,000 and another machine

purchased same days for 1,00,000. Prepare Machine A/c.
AWdn/ OR
~H§ g_1viZ n1 S™nh? Bg Hig ~Z1°J?

What is Bank Reconciliation Statement? How it will be prepared?
a{d1Qr Hfa/Pass the Entry.

(i)  {dHS> ~hrHin ~nJ 200 &. g A{YH; bJil
Sales book over Cost by Rs 200

(i) B/P~HiHi 13 100 & gH_bJdn
B/P Book under cost by 100.

(iii) a_Hin b ~Mn1000 &5 nab b J
Goods sold to Ram Rs 1000 but omitted

(iv) HS ~hrHi "1 1000 &. g HS_ bJilg
Purchase book under cost by Rs. 1000

AWdr/ OR

aHsS ~hr S 1 h? Bg Hig V" ra Hial/What do you mean by Cash book? How
will it be prepared.

On 31 March 2005 the following Balance Sheet of Ram Ltd.
Llabilities Rs. Assets Rs.
Capital X 50,000 Cash 50,000

Y 30,000 Building 40,000

Creditor 20,000 Debtor 10,000
Profit and Loss A/c| 50,000 Machine 50,000
1,50,000 1,50,000

ZHnZ™ giPXna Hs &n _ {Z4Z eVina ade {X rigs

(i)

a.5.

Z admited as a new partner on following term.

(i) zAnZrnOr 10,000, » ®{V 5000 ZHX biVn hig
Z brings his capital 10,000 and Good will 5000 in Cash.

(i) dZ 20% g KQnzn hig
Building Reduced by 20%
(iii) _erZ 70000 & n{HV His Bl
Machine valued at 70,000
(iv) XZXra 10% g KQiB™ &
Debts reduced by 10%

nZ_& 1HZ InvVinOr BV d {MQRn ~ZnB " &
Prepare Revalution A/c, Partner's Capital A/c & B/S.

AWdn/ OR
giPXiar Hn g_mZ S™nh? gjn _ dUZ Heailg

What do you mean by Dissolution of Partnership? Describe itin brief.

bln 1ZH SbHSHS™ ~ViB™? ~aV _ b In _1ZHSHS{ZJ Z His afHs™n ~ViB™ &
Give the functions of Accounting Standards Board? Also explain the process
of issue of Accounting Standards?

AWdn/ OR
{QfnUr HSan/Wwrite short notes on.
1. ~r_1 Xnd/Insurance Claim
2.enlnb 1 /BranchA/c
3. fiHSY & 1HSZ/Stock Valuation

4. AlV_ 1iIV/Final Alc
*

(iii) d-i-m-@PT.0.



Q.4.

Q.5.

MHS HS AZixaU g S™1 Are™ h? MHS HS AZiXaU g gé~piyV »°
adYiz S™n h?

What is meant by dishonor of a cheque? What are the main provisions
relating to dishonor of a cheque?

{Obn Cn/SVi_M S™nh? BgH Uran Cn/iSVh {eHin™V HS {ZdiaU Hs {lE
AnZiB O1Z dibr afHs™n H dUZ H{OE®

What is district consumer forum? Describe the procedure adopted
for the redressal as of consumer complaints by the forum.

OR / AWdn

giPXrar His nfa”ifi Xr{O™1& giPXrar H aHia ~ViB*™
Define partnership. Mention the various types of partnership.

AdVI gh {V g S7n Are™ h? gh_{V Hi~ fdVI Zht _1Zr Ovr h?
AZ~YY H {b™ BgH _hid Hyn g_PiB™

What is meant by free consent? When is consent not free? Discuss
its importance in contract.

OR / AWdr
{ZAZ{b{1V na {QBnUr {b{NEl.

Write notes on the following :

(i) giPXnar Hit nOr~Z / Registration of Partnership

(ii) YoaHs VWi “Wi{d{YY1aH$ _ AYVa / Distinction between holder and
holder in due course.

400

(i)

D117 BCOM-04
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER -IIl : BUSINESS REGULATORY FRAMEWORK
TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.
3T - T e sor FMory ) T wedAl F yF warT &/

Q. 1

Q.2.

Q.3.

anvad Hs n[a”ifn Xr{O™ VW BgHs {defvi™ ~ViB™
Define offer and explain its characteristics.
OR / AWdhr
AZ~\Y HaZ Hs "1 Vi g Amn S™1.g_PV h? AZ~YY Haz H AT
ISV HiZ-Hyz h?

What do you understand by capacity to contract? Who are the various
persons declared by law to enter in to contract?

hi{Zajr AZ~YY g Ain S™n g _PV h? hi{ZajHs Ed hi{ZajnYrar HS
A{YHsian His {ddMZn His{O &

What do you understand by the contract of Indemnity? Discuss the
rights of Indemnifier and Indemnified.

OR / AWdn
{Zjn S h? {Zjnr VWh {Zjndhrva HS HSni~n Hi Céb I His{OER

What is Bailment? Describe the duties of a Bailer and a Bailee.

a{Vki-nT His S™n Ardi sV h? BgHin {d{Z_~-nl g AYVa finiQ Hi{OFi

Why is promissory note needed? Distinguish it from bill of Exchange.
OR / AWdn

(i) d-i-m@rT.0.



Q.4.

Q.5.

(iii) 1 1nnar/Dealer

(iv) {dH"/Sales
OR / AWdh
ANaA™r 1 mna B XiaiZ {~Hr Hs {ZYraU HiaZ dib {gOnfVi Hir g_PiB™ig

CXihaU ~r Xr{OE®

Explain the principles determining the sale in course of inter-state
trade. Give examples.

HYDr™ {dHS™ Hea A{Y{Z™_ 1956 H§ ATVIV i mnifa 1 H§ nOr~Z HS andYizs
Hi dUZ His{OER

Explain the provisions of the CST Act 1956 relating to registration of
the dealers.

OR / AWdr
{dH™ & VW ArdV Hit g_PiV hE CZHS AfVa Hin finiQ His{OER

Explain the meaning of sale price and turnover and clarify difference
between them.

a0fiWZ &~ nfad{YV Ha A{Y{Z" _HS VhV Hia His Xar H§ gd~VY _ {diivv
bl {b{1k

Write a detail note on rates under the Rajasthan value added Tax
Act.

OR / AWdh
al0fAWIZ & nfad{YV Ha A{Y{Z>_H AVVIV Ha His dgbr HaZ Hs HhZ-
HiZ-gr {d{Y"1 h? g_PmB™i

What are the various modes of recovery of tax under the Rajasthan
value added tax Act. Explain.

(ii) *ee

D118 BCOM-05
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER - IV : TAX PROCEDURE & PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt any five questions. Each question carries equal marks.
%7 : BlF grT go7 877 FFV I T FIA F FF FHT &7/

Q. 1. HiaamU g Ain S g_PV h? HiaianU H§ CXXi™n H dUZ His{OEi
What do you mean by Taxation? Explain the objectives of Taxation.
OR / AWdn

aJ{Verb Ha g Ain S™1.g_PV h? aJ{Verb Hia H nj Ara {dnj _ VHS Hfn
g_PIBE?

What do you mean by progressive tax? Explain arguments for and
against progressive taxation.

Q.2. ™MaV _ ak™j VWi AaE™ j Hsan HS {d{p aHian Hn dUZ Hi{OER

What are the different types of direct and Indirect taxes in India
Explain.

OR / AWdn

MaV  HYF na HianainU HYr {dAVV dUZ Hs{OElk
Explain Agriculture Taxation in India in detail.

Q.3. HWDr {dHS™ Ha AY{Z™_ HS AWV {Z4Z na g{ja {0fn{Un {b{IER
Write short notes on the following under the central sales tax Act.
(i) _1b/Goods

(i) Ki{fV _1b/Declared Goods

(i) d-i-m@rT.0.



D119 BCOM-06

B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER - V : BUSINESS STATISTICS

TIME : 3.00 HRS. MM : 70

37T /7T gig geT) & amv oy gy geat F yF w T &/

Note: Attemptany five questions. Each question carries equal marks.

Q. 1. What is statistical table? What are its objects and importance in a
statistical enquiry?

g Hs™ graUr {Hig HihV h? EHS g Hs™ AZgYiZ _ gralr H S™r
CXXi™~ Ed _hld h?

Q. 2. From the following series calculate Mean, Median & Mode.

{Z3Z graUr g _U™HS, _pU™Hir VWi ~hoHS His JUZ1 His{O &

Value ( €7) Frequency (Aid{v 1)
10-20 - 04
10-30 - 16
10-40 - 56
10-50 - 97
10-60 - 124
10-70 - 137
10-80 - 146
10-90 - 150

Q. 3. What is skewness? How will be skewness be tested in a distribution?
Explain with examples.

{df Vi {Hig HhV h? EHS {dvaU _ {df Vi His OM {Hig aHsa His Onvr h? CXihal
ghv g_PB

(i) d-i-m-@prT.0.



Q.4.

Q.5.

Q.6.

Q.7.

Q.8.

Complute the standard deviation from the following data.

{ZAZHHV g_Ha g a_mn {dMbZ His JUZn {0k
Midpoint 1 2 3 4 5 6 7 8 9
Frequency 2 60 101 152 205 155 79 40 01

Explain the meaning and significance of the concept of correlation.

gh ga~Y Hin AW Ara _hed g_Pra {b{IE&

Given the following data, what will be the likly yield when rainfall is
29 inches.

{ZAZ g_H {X> 3™ h, g&™i~ CnO S n hudr, ~{X dfn 29 BM hiik

Rainfall Production
Per acre
Mean (_107) 25" 40 unit
Standard deviation 3" 6 unit

(a_m {dvb2)
Correlation Coefficient r=+0.8

(ghga~Y JUIH)

What is time series? How will you analyse them?

Hib 1Ur S™n h? Ain CZH Hig {dibfU Hiav h?

Calculate Fisher's ideal Index number from the following data.

{Z3Z g_Hin g {\iea HS AiXe gMHSHS His JUZn His{OEk

ltem Price Quantity
Y 2014 2015 2014 2015
A 8 20 50 60
B 2 6 15 10
C 1 2 20 25
D 2 5 10 8
E 1 5 30 40

(i)

Q. 9. Calculate Coefficient of skewness from the following data.

(Z3Z{b(1V g_Hi g {df Vi JUHS KoV H{OER

Central Value
15
20
25
30
35
40

Q. 9. What is cost of living index numbers? Explain its uses also.

OrdZ {Zdih gMHHS {Hg HhV h? BgHis Cn 1{JVh Hyr dUZ Hs{OER

(iii)

Frequency
33
28
25
24
20
21

400



Q.4.

Q.5.

OR / AWdr
nOr Hin n[a”{fV H{OE& nOr {Z_1U Hn aM{dV HaZ dib VEdn Hs {ddMZ

His{OE R

Define capital. Discuss the factors affecting capital formation.

3710 H VabVi ng¥XJr {gOifV Hs AtoaMZit_Hs g_rjn His{OF/
Critically examine the liquidity preference theory of interest.
OR / AWdn

_OXar H AnY{ZHs {gOnfV His >1» 1 Hi{OFl

Explain the modern theory of wages.

{HSYht Xn na {QfnUr {bb 1./ Write short notes on any two.
() WHn{Z _

Law of demand
(ii) EH&{YHia

Monopoly
(iii) AéHyibrZ ~10ma

Short term market

OR / AWdn

CXngrZ dHS {dibfU Hs n[a™rfn XV hE CgHs a_I {defViAn Hin CEb

His{OE R

Define indifference curve analysis and mention its main
characteristics.

400

(i)

D120 BCOM-07
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER - VI : BUSINESS ECONOMICS
TIME : 3.00 HRS.
Note : Attempt all questions. Each question carries equal marks.
R : &yl geT so7 v/ T wedl F Fw T &/

MM : 70

Q. 1. i ndgr{ H AWeriil His nfaifn Xi& i ndge{"H {ZU™r _ i ndgr{"H AWeriil
His ~_Hin Hor Céb I Hialt /Define business economics. Examine the
role of business economics in business decisions.

OR / AWdr
gr 1V Cn Vi Gig {Z™_ His 1 n alfMin Hs ghn™ Vi g His{OER BgHss

gr_1e ~ViBE&

Explain the law of diminishing marginal utility with the help of
diagram and give its limitations.

Q.2. n{VHI{Z" Hng_ PIBEK n{V Hin HZ-HyZ g VEd a™{dV HiaV hi?

Explain the law of supply. What are the factors which affect the supply
of acommodity?

OR / AWdn

AZHSbY_ 0Zg» 0 {gOnV His ™11 Hi{OER _1eWg H {gOnfV g ~h {Hig
aHia 1R hié

Explain the optimum theory of population. State how is itimprovement
over the Malthusian theory of population.

Q.3. & {ZYraU _ g > VEd H§ _hEd His gMT i m» 1 His{OEk
Discuss the importance of time element with help of a diagram.

(i) d-i-m@rT.0.



Product X Product Y
(CEmiXHs ESg) (CEnIXHS cliB)

én” én_
Direct Material P.U. 400 360
at™j gn_Jr afV BHiB
Direct wages 1 per hour P.U. 120 80
a{V KQn afV BH#B &t j I
Selling price P.U. 800 600
{dH & &V BHB
Variable overheads per hour 1 1
aV KQn n[advZerb Cn[ai™ "

Total fixed overheads are Rs. 64,000 per annum.

HSb AWn"r Cn[ai”~ 64,000 én" afVv df

You are asked which of the following products mix adopted for sales.
Aing ~ nNn Oivi h, {H {ZaZ{b{1V _ g HuzZgr CEmiX {_IU {dH" hv

AnZi™n OnElg
(@) 200 Units of X and 400 Units of Y
(b) 300 Units of X and 300 Units of Y

(c) 400 Units of X and 200 Units of Y
OR / AWdh

What is the meaning of product and product decisions? What types
of decisions are taken under it?

CErX Ed CEniX {ZU™ g S™1 Ave™ h? Bg_ {Hig aHya H {ZU™ {b™ OV hig
L XX/

D121 BCOM-08

B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER - VII : BUSINESS BUDGETING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.
3T - T e sor FMory ) T wedAl F yF warT &/

Q. 1. What do you mean by business budgeting? State the procedure for
preparation of budget by a business undertaking.

“1dg"H ~00Z g A S1.g_PV h? EH i ndge{"Hs gfiwn Oran ~OQ
V™ 1a HiaZ His a{H§™n na aHsie Si{b &

OR / AWdn

Write short notes on the following/{ZaZ na {QfnUr™n {b{ 1 E-
(i) Budget period/~0Q Ad{Y
(ii) Key Budget factors/a_1 ~0Q HiiaH§

Q. 2. Explain the various theories of Business forecasting.

1 1dgn{"HS naiZ_1Z. HS {d{p {gOnfVn Hs i 1» 1 His{OFk
OR / AWdr

The average weekly wages of working class of Ajmer is Rs. 12 and
that of jaipur is Rs. 18, their standard deviations are Rs. 2 and Rs 3
respectively and their coefficient of correlation is + .67

If the wages at Ajmer are Rs. 20, then calculate the maximum
expected wages at Jaipur.

(i) d-i-m@prT.0.



Q.3.

AO a _ EHS Hin"aV dJ His AigV grarhHS _OXar 12 én™ h Ara O™ na His
18 én” h, CZH a_m {dMbZ H_e. 2 Ana 3 h, VWi CZHn ghg~Y JUIHS
+ .67 hig

“XAO a _

What is master budget? Describg briefly the usual subsidiary budgets
of master budget./ 1fiQa ~0Q S™n h? _1fiQa ~0Q H§ ghi™H§ ~OQn Hi
gjn _ {ddMZ Hs{OE®k

OR / AWdr

A company manufactures two products A and B. A forecast for the
number of units to be sold in the first four months of the year is given
below.

Month Product - A Product - B
(Units) (Units)
January 3,000 6,000
February 3,400 6,000
March 4,200 5,200
April 5,000 4,400

Finished units equal to half the sales for the next month will be in
stock at the end of each month (including previous December).

Prepare for the three month ending March 31, a production budget
for each month.

EHS HinZr 2 CEriXa "A* VWi "~" Hyr {Z_nU HsaVr hig df HS aw_ Mra th _
~Mr OnZ dubor BHUB 1 His g» ™1 ndiZ_nZ ZM {XE JE h-

_th CEniXHS "A"  CEruX "~
(BHYB 1) (BH$B ™ n)
RGN 3,000 6,000

(i)

_OXar20 én™ h, ViO™na_ gdi{YHs ga™{dV _OXar kv H{OER

Q. 4.

Q.5.

\fadar 3,400 6,000
_IM 4,200 5,200
Aab 5,000 4,400
aE™HS th HS AV {Z{_V BHSB 1 Hir iQrHs AJb _th His {~H% (JV {Xga~a

g{hV) Hin ArYn ahJné

31 M H g 1d iz dib ViZ _hrZn H {bE &E"HS th Hin CEmiXZ ~OQ
~ZIBElG

Write short notes on the following.

(1) Budget Manual
(i) Budget Co-ordination
{Z8Z na {QBnUr™n {b{NE-
(i) ~OQ npfiVHn
(i) ~00 g_¥d*

OR / AWdr

Write short notes on the following.

(i) Use of alternative production of facilities.

(i) Determination of the profitable level of production.
{

ZaZ na {QfnUrn {b{NE-
(i) CEIXZ His dH&enHS g{dYnAn Hy
(ii) CEniXZ His gyclnin_ bi™s axvi g

=

a1l
fiVa {ZYn[aV HaZné

=

The directors of Ram limited have submitted the following information.
regarding its two products Xand Y :

a_{b{ S H gMibH Z AnZ Xn CEniXa ESg VWi diB H g
gMZiE afiVV His h-

Y _{Z8zZ{p{1v

(iii)



